b 7t 1

3. TS ¥4 AABC o ADEF o]1l, §-&H]7F2: 3
A o, B7]oA & A St

A
B >
“dem -7
[17]
H7]
Q@ £C =170° © BC:EF=4:9
® i © /A:/D=2:3
4crln “7Tem
| \
‘8cm——‘\
@
Aécm
“=6cm~~
5 4. o=
Cm
|
“~-9cm-""
O % SIAF ThO ol AHALo9
E]—EI-(S_OOEUI_.E'O\_/\I_- @7 @8 @9 @10 @]—2
O % Az @ % ol 47+
® =4 CERREE
5. T 189 A ZAED =
® = Atz e
ZABC, AD =

4cm, AE = 6cm, EC =
2em ¥ W, BD 9
Zolg Fatw?

@ 6cm @ Tcm ® 8cm

@ 9cm ® 10cm ®




w7
® F P @ % AT
® % 97 @ % gy

7. o IECA 29 #2?
A

@ 11 @ 13 3 14 @ 15 ® 21

8. o2 oA LBAC =90°, ADIBCY o, 29 %t
= ToFH?

9. og I"lA ZBAC = 90°, AHLBC ¥ o, z 9|

=]
o
—C(?

g

o
ol
7}7}

=

10. o2 oA T 27+ ABCDE 2} FGHIJ
s gole}, o] o], /F o 27|19} BE o] 70|
Fatolet

1

L
=

=

C ~gem-- D H I

11. o+& 344 ZACD = /DBC ,AC=5,AD =3

A o, 29 Pl




